CHP.10

S.1.
What is the beta of a three-stock portfolio including 25% of Stock A with a beta of .90, 40% Stock B with a beta of 1.05, and 35% Stock C with a beta of 1.73? 

A)
1.05 

B)
1.17

C)
1.22 

D)
1.25
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Portfolio Beta = (.25 x 0.9) + (.4 x 1.05) + (.35 x 1.73)


= .225 + .42 + .606


= 1.25
S.2.
What should be the beta of a replacement stock if an investor wishes to achieve a portfolio beta of 1.0 by replacing Stock C in the following equally weighted portfolio:  Stock A = .9 beta; Stock B = 1.1 beta; Stock C = 1.35 beta? 

A)
.93 beta 

B)
1.00 beta 

C)
1.08 beta 

D)
1.15 beta 
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New Portfolio Beta = (.333 x .9) + (.333 x 1.1) + (.333 x Beta C)


1.0 = .3 + .366 +.333 x Beta C


.334 = .333 x Beta C


1.00 = Beta C
S.3.
What is the expected yield on the market portfolio at a time when Treasury bills yield 6% and a stock with a beta of 1.4 is expected to yield 18%? 

A)
8.6% 

B)
10.8% 

C)
12.0% 

D)
14.6% 
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Expected return = risk - free rate + risk premium


18% = 6% + 1.4 (Rm - 6%)


18% = 6% + 1.4 Rm - 8.4%


20.4% = 1.4Rm


14.57% = Rm
S.4.
What rate of return should an investor expect for a stock that has a beta of 0.8 when the market is expected to yield 14% and Treasury bills offer 6%? 

A)
9.2% 

B)
11.2% 

C)
12.4% 

D)
12.8% 
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r = rf + B(rm - rf)


= 6% +.8(14% - 6%)


= 6% + 6.4%


= 12.4%
S.5.
What return would be expected by an investor whose portfolio was 25% market portfolio and 75% Treasury bills if the risk-free rate was 7% and the market risk premium was 8%? 

A)
8.00% 

B)
9.00% 

C)
10.75% 

D)
13.00% 
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Expected return on market = rf + market risk premium


= 7% + 8%


= 15%


rf = (.25 x .07) + (.75 x 15)


= 1.75 + 11.25


= 13.00

S.6.
Calculate the risk premium on Stock C given the following information:  risk-free rate = 5%, market return = 13%, Stock C = 1.3 beta. 

A)
8.0% 

B)
10.4% 

C)
15.4% 

D)
16.9% 
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Stock C Risk Premium = Beta x (market risk premium)


= 1.3 x (13% - 5%)


= 10.4%
S.7.
If Treasury bills yield 6.0% and the market risk premium is 9.0%, then a portfolio with a beta of 1.5 would be expected to yield: 

A)
12.0% 

B)
17.0% 

C)
19.5% 

D)
21.5% 
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Expected return = 6.0% + 1.5(9.0%)


= 19.5%
S.8.
If a two-stock portfolio is equally invested in stocks with betas of 1.4 and 0.7, then the portfolio beta is: 

A)
0.70.

B)
1.05. 

C)
1.40. 

D)
2.10. 
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Portfolio beta = (W1 x B1) + (W2 x B2)


= (.5 x 1.4) + (.5 x .70)


= 1.05
S.9.
What is the beta of a portfolio with an expected return of 12% if Treasury bills yield 6% and the market risk premium is 8%? 

A)
0.50

B)
0.75 

C)
0.90

D)
1.50 
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rp = 6% + Bp(8%)


12% = 6% + Bp(8%)


6% = 8%Bp


.75 = Bp

